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Solatiors of Trigorometric Eqaatiors

The solution set of sin2x=cos3x is

a) {n+ 2n7r} 0 {3ﬂ+ 2n7r} 0 {” + 2n7r} O {9”+ ZHH} O {13”+ 2n7r} O {17”+ 2nﬂ},nDZ
2 2 10 10 10 10
b) { +nn}D{5—ﬂ+nn},nDZ
2 3
Y/
C) { +nn}D{?+nn},nDZ
d) {E+ ZHH} O {%T+ ZHH}, ndZz

€) None of these

The solution set of 2cos’x=3sinX is

a) {7—T+ ZHH} O {5_71+ ZHH}, ndZ
6 6

b) {7—T+ ZHH} O {5_71+ ZHH}, ndZ
3 3

C) { +nn}D{%+nn},nDZ

d) {—+ ZHH} O {5_71+ ZHH}, ndZ
6 6

e) None of these

The solution set of sin2x + cos2x = \/Eis

a) {7—T+n£},nDZ
2 8

b) { +n—} ndJZ
8 2

C) {%T+ ZHH} O {%T+ ZHH},I’]DZ

d) { +nn}D{5—ﬂ+nn},nDZ
6 6

€) None of these

The solution set of Sin?x+2sinX=2-cosX is

a) {%T+ ZHH} O {%T+ ZHH},I’]DZ

b) { +nn}D{5—ﬂ+2nn},nDZ
3 3
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C) { +2nn}D{%+2nn},nDZ

d) {—+nﬂ}D{5—n+nﬂ},nDZ
6 6

€) None of these

5. The solution set of sinx + cosx = \/Eis

a) {7—T+nn},nDZ
4
b) {%T+ ZHIT},I’]DZ

C) {%T+ ZHH} O {%T+ ZHH},I’]DZ

d) { +nn}D{5—ﬂ+nn},nDZ
6 6

€) None of these

6. Thesolutionsetofsinx:%is

a) {%T+ ZHIT} O {%T+ 2nn},nDZ

b) {—+nﬂ}D{5—n+nﬂ},nDZ
3 3

C) {%T+ ZHH} O {%T+ ZHH},I’]DZ

d) { +nn}D{5—ﬂ+nn},nDZ
6 6

e) None of these

7. The solution set of sin2x = 1 + cos2x is

a) {7—T+ 2nn}D{3—77+ 2nn} {—+2n }
2 2
b) { +nn}D{3—ﬂ+ nn} { +2nn} {5—77 2nn} nZ
2 2 4
C) {7—T+ nﬂ}D{3—7T+ I’VT} { +2nﬂ} {571
2 2
t

— ﬂ},nDZ
4

d) {7—T+2nn}D{3—ﬂ+2nn}D{ +nn} {5—ﬂ+nn},nDZ
2 2 4 4

€) None of these

8. The solution set of sindx =1 + cos4x is

a) {7—T+ ZHH} O {3_n+ ZHH} O {E + ZHH}
2 2 10

b) { +nn}D{3—ﬂ+nn}D{7—T+2nn}D{5—ﬂ+2nn},nDZ
2 2 4 4
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C) {7—T+nﬂ}D{3—n+nﬂ}D{7—T+nﬂ}D{5—n+nﬂ},nDZ
2 2 4 4

d) {7—T+2nﬂ}D{3—n+2nﬂ}D{7—T+nﬂ}D{5—n+nﬂ}.nDZ
2 2 4 4

€) None of these

9. The solution set of sindx =1 + cos4x is

a) {7—T+nﬂ}D{7—n+nﬂ}D{5—n+nﬂ}D{g+nﬂ},nﬂz
6 6 6 6

b) {7—T+2nn}D{3—ﬂ+nn}D{£+2nn}D{5—”+2nﬂ},nDZ
2 2 4 4

C) {7—T+nn}D 3—”+nn}D{7—T+nn}D 5—”+nn},nDZ
2 2 4 4

d) {7—T+nﬂ}D{3—n+nﬂ}D{7—T+nE}D{5—n+nl—T},nDZ
4 4 8 2 8 2

€) None of these
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